FR23EEMBARYY—T-AKE Rko—

2B TR23%F6H48(1)~58(H)
=15 MEmHILEFEEAR
TA4LYA— HHEA EX
Lozl)— =iE 52
24 B A
48 —fiRBFIUTILR 1R 8:40
2R 10:00
BF45F T ILA 1R 9:30
2R 11:00
BF50F T ILR 1R 9:30
2R 10:30
—BBFAITILR 1R 12:00
2R 12:30
BF45F X TILR 1R 12:00
2R 12:30
—BLFATILR 18E2%& 9:30

3& 10:30



FR23FEMARYI—T_AKR

—R_BFUTILR
@1 =F Mo (TEAM C)
2 B #gE (ZIMA@H R HETE .com)
3 Mg Fz CINEE S
4 {ERK —F (PR BRI K2 T=ZER)
5 WA EZE (THTC)
G6 MM 43 (JREAX)
Q@7 =iF ETE (TEAM C)
8 T HhE (ZEITUTIL T=RID
9 N 1&A (AR KRFEXT=XER)
10 HAf EA (BRI KZARFEFr/IR)
1 R M MARTFTRAEIFR)
®©12 A SA (TEAM C)
@13 EM EH=E (TDK)
14 IF% #Ht (TEAM C)
15 Bk SH (71—)
16 L@ EE MARFT-RAEIFR)
17 H&H ME (TDK)
@18 A HH (B REZHER)
@19 Ik EF (R KEZE)
20 ZRME KR (B SARXT=RY5T)
21 K& A MEARTFTRAEIFR)
22 JIF Sa (TEAM C)
23 £k BEA (A—rETTA)
@24 B R"E (AAC)

1R

2R

QF

SF




BFA5F T ILA

@1 iR B (TDK)
2 BYE
3 hH FEX 0% SV 9
4 fIR ;|5 (THTC)
@5 {kpE sh3E (TDK)
6 {Fik M (KC’S)
7 ZH XEH [EST=RYFT)
8 REA - (A—rET)
9 REF #& (H54X)
10 {ERK #HI& (KBS TA—IL)
1 R R (THTC)
@12 Il EX (KC'S)
13 &R BE (21-)
14 IR FER (THTC)
15 BYE
@16 /MEF FIE (A—kE7)
BF50F T ILR
®1 A 'X (KBS TA—ILT=R957)
2 BYE
3 B X (RR—FTZ=RY937)
4 $5K fHEA (TDK)
5 {ERK X[E (RR—FTZ=RY937)
6 =5 % MARTFTRAEIFER)
7 BYE

8 A MR (R2—k 937)




—REBEFAITILX

1R 2R SF

1ﬁEE B5A =21E e
TEAM C TEAM C

21&/17!( —I Il 1&4E L
BRI KPBRT RS RERIKPELT AL
3%5‘5,% &R IR IRER ]
71)— 21)—

41&5‘% ZA Hf BEA
A—FETTA R K RIS v /(R

5 =it HRE ® = L
=gvFUTL F=RU JLERERIT

6'.%71‘% g2E B E=E ]
ZIMA@HR K #KJ&E.com TDK

, CE Bl mE L
TEAM C AAC

8 BYE —

. HE ME ik IR
TDK TDK

0 FafE 15 I% g6 L
JREEBEX TEAM C

» Nk & NG Rz ]
B RERER LYNEE S

@12 =2 EF n# sk

TEAM C TEAM C




BFA45FAITILR

1R 2R
O i BA INEF FIZE
TDK d1—RETTA
leﬁ FHE = 2E
THTC IETF=RIEZER
3%*!1 e M E— |
Y54 54X
ey ®E EE A+t 1B
1)— REEO—2TC
5*&% EES) Tk ikt
THTC THTC
65&5& 3 =F #XER |
AX—,TFZRY5T ATX—,TZ=RH5T
715'n$E3 (738 Ea2K Hii
LRy R K5 TA—IL
B*EF'E" = YrE #05h |
Fayi—X FayN—X
@s MBIl EX Bk =
KC'S KC'S
0 il #wz =% BEA
RTC BFO—>
1%%1.‘:.‘ & Tk EC2 |
Fawii—X Fay/i—X
@121&”5% BhsE Y B—
TDK 1—kE7F
— B LFFI LR
1 KiE #BF B TE#
TEAM C TEAM C
) Tk E¥ REERN EHE
AAC FavN—X
3 INE ERF FE SOF
TEAM C TEAM C




